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® [Language] ®EZAT, [Javal ZESN

Slack — Bring your team together with Slack, the collaboration hub for work.

Language -- select  _1

int main()

HTML,JS,CSS
Ruby

Perl

Pascal

R

Fortran

Haskell
Assembly(GCC)
Objective C
SQLite




EITRY >

T+« ~HEMmE

JOU35 L% ;
%gmz%:t : .out.println(“Hello Wor
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main( [] args) {
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v input

Command line arguments:

Standard Input: @ Interactive Console O Text
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FTOMZEZRDBITOISLZED

« CCClE, BmEDIzsD, BATROFDAT(IEHED
9°(C, whileXZHW3

f5) 100 — 5050
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import java.util. Scanner, {

. . FinFedtoar Fipdt
public class Main

{

public static void main(String[] args) {

int N, sum, i;

Scanner s = new Scanner(System.in);
System.out.printin("Please Enter N =");
N = s.nextInt();

sum =0, =3\
whille’,-(i <= Njf{/ ZEDIRUEfTESND

sum=sum+i; | 2145

=1+ 1;

}
System.out.printf("goukei = %d¥n", sum);
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Please Enter N =
100
goukeli = 5050

Please Enter N =
200
goukei = 20100
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- DR UL DB
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1. Isum] (C [i] ZRBULZCD
— [sum] (ClJ, €EDFRTD [1H5 i1 FTODF

NAB
2. Til ofEz 11807
- BRODIRUDIRT M+

| <= N DD ERS RO IESERT
— DEDISNITROIESRT
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(ZU&HIFE sum =0 i=1

fEDIRL
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# ZD@LEL/ | <=7 W19 B sum=1+2 =3

= NIR U N :
%3@LE i <=7 Wi 9 D sum =3+ 3 1=4

#5811 L .
%ZD@LEL/ i <=7 W'XIZ1 9 B sum=6+4 =5

%210 _ . :
f SD@LEL/ | <=7 WBILT B sum=10+5 1=6

I‘;T% \)i . S oas .
%6D@LEL/ i <=7 W31 9 B sum=15+6 |=7
HEDIRL
7 [01H
FEDIRU
8 [01H

<=7 W19 D sum=0+1 =2

<=7 WK1 9 D sum=21+7 =8

| <=7 DAz L7RLY




while {2

« [ DUIBDFED IR L

« ¥DIRULDIZTNC while XTE3 =&KX DE
BEHHIESN, BETHBIRD, while D & I(CH
<XHERfTENGTS.

(1 <= N) {

sum sum i;
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import java.util.Scanner;
public class Main

{

public static void main(String[] args) {

Int m, n, r;

Scanner s = new Scanner(System.in);

System.out.printin("Please Enter m =");

m = s.nextInt();

System.out.printin("Please Enter n =");

n = s.nextint();

r=mon 42t
while(r > 0) {

m =n;
n=r;
r=m%n;

}

D RDIIDMIRD,
RITENDDT B35

System.out.printf("GCD = %d¥n", n);

hihedren il

18



ERADTIZDETE

- FATRROA

Please Enter m
12
Please Enter n

8
GCD

Please Enter m
80
Please Enter n

35
GCD
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- DR UL DBY
r=m%n%Z=xEiT (mZn TE>ERDN r (CAB)

cEDIRUDBRATYVITREINBC &

m=n;

n=r;

r=m%n,;

ZZE1T (m, n, r DB NE=L<TED>TLIK)

» BRDIRLDRE TSt
r Y0 (CIRDT=5HET
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m=80,n=35&9DE,
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S

120K —
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35, 10 DEg ANFIE X
10, 5 O ALIEICEHF UL
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import java.util. Scanner;
public class Main
{
public static void main(String[] args) {
Int sum, I, X;
sum = 0;
| = 0;
Scanner s = new Scanner(System.in);
System.out.printf("Please Enter x[%d] =", I);

X = s.nextint(); AZ
while(0 <= X *{q:ic

sum =sum + X;

=1+ 1;

System.out.printf("Please Enter x[%d] =", I);
X = s.nextInt();

}

System.out.printf("sum = %d¥n", sum);
System.out.printf("%d / %d = %d", sum, i, sum /i);

hihedren il

DR DIIDIRD,
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2. [i]l DlEZ 118>
3. Xi ZRHAD
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public class Main

{
public static void main(String[] args) {
inti, j;
fori=1;i<=9; i++){
System.out.printf("%3d:", i); H;'T'g(o;‘@b
for(j=1;)<=9; j++){ ==/ Y[ 4
System.out.printf("%3d", i *)); ééﬂ'éﬂ%nﬁﬁ
}
System.out.printin("");
}
}
}
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.out.println(""):
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D
(cos@ +isin @)"

cosné +1sin né

« IR, i (FEEEELL
« CCTIl& (sinB+ i cosB)n Z3Kk&DDIZEHIC, whileX 7z
WZHEDIR UETEZ1T D THD

*
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(EERA O =

z1=x1+1yl
22=X2+iy2 DEE

z1z2 =(X1+1yl)(x2+1y2)
=XIx2 + x1iy2 +i1ylx2 +i1yliy2
= X1x2 - yly2 +1 (X1ly2 + y1x2)

. J . /
Y

.
SRENED e 2 ED
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Import java.lang.Math; {
import java.util.Scanner;

public class Main sk
{
public static void main(String[] args) {

intn, j;

double x1, y1, x2, y2, theta;

Scanner s = new Scanner(System.in);

System.out.printin("Please Enter n =");

n = s.nextint();

System.out.printin("Please Enter theta =");

theta = s.nextFloat();

x1 = Math.cos(theta);

y1l = Math.sin(theta);

x2 = x1; 82
s = EDIRURTEND

{/v_hlle <=n){ Elxﬁ

System.out.printf("(cos theta + 1 sin theta)%d = %8.3f + 1%8.3f¥n", |, x1, y1);

System.out.printf("cos %d theta + i sin %d theta = %8.3f + i %8.3f¥n", j, |,
Math.cos(j * theta), Math.sin(j * theta));

x1=x1*x2-yl*y2;

yl=x1*y2+x2*yl;

J=+ L




==/ ¢+
E{TiEER
'lea;e Egéer n =

Please Enter theta =

(cos theta + 1 sin theta)l = 0.995 + 1
os 1 theta + i sin 1 theta 0.995 + 1
(cos theta + 1 sin theta)2 = 0.980 + 1
os 2 theta + i sin 2 theta 0.980 + 1
(cos theta + 1 sin theta)3 = 0955 + 1

os 3 theta + i sin 3 theta 0.95%5 + 1
(cos theta + 1 sin theta)d = 0.922 + 1
os 4 theta + 1 sin 4 theta 0.8921 + 1
(cos theta + 1 sin theta)5 = 0.879 + i
os 5 theta + i sin 5 theta 0.878 + 1
(cos theta + 1 sin theta)o = 0.828 + 1
os 6 theta + i sin 6 theta 0.825 + 1
(cos theta + 1 sin theta)7 = 0.769 + 1
os 7 theta + 1 sin 7 theta 0.765 + 1
(cos theta + 1 sin theta)8 = 0703 + 1
os 8 theta + 1 sin 8 theta 0.697 + i




i DIR VALIEDOH S

« DR L DB

X1 = .cos(theta);
yl .sin(theta);

X2 b, 4l 1=
Y2 =2yi;

BT
- BOIBUDERAFTYI TRENDZ L

X1 X1 * x2 VIR TtR I

vyl = xi * Y284 XD * yl-
ZET (X1 HEEEB, y1 H'EEER)
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(cosB+ i sinB)" = cos nB+ i sin nb 5.

(cosB+ i sinB)? = cos26- sin20+ 2i cosBsin 6
= c0s20+ i1 sin20
(cosB+ i sinB)3 = (cosB+ i sinB)? (cosB+ i sinB)
= (c0s206+i sin20) (cosb+ i sinB)
= c0s20c0s6- sin20sin6
+1 (c0s20sinB- sin20cos0)
= cos (20+0) + 1 sin (20+0)
= c0s30+ i sin306

CATEERICERD. HFNIFENETIATED)
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